Going Around in Circles
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The diagram on the right shows a 12-point circle.  On it has been marked the first few moves in a 
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 pattern.

1. Continue the pattern shown here, stopping when you land on zero. Include the arrows.
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A pattern of 
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 means that on a 12-point 

circle you are to make jumps of seven points, 

starting at zero, in a clockwise direction.

2. At how many points does your resulting shape touch the circle?





______________

3. On the 12-point circle right, draw a 
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 pattern.

(a) How many points are there this time?   ____

(b) What differences do you notice 



between the patterns?

4. Predict in your own mind what you would expect to see for 
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 and 
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patterns.  Use the special 12-point circle paper supplied by your teacher to check your predictions.

5. Explain briefly why the 
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 patterns are uninteresting.

6. Using the 12-point circle paper, complete any remaining diagrams for the patterns 
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 through to 
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.

	
	Number of points in pattern.
	Type of pattern (shape etc.)
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7. What patterns can you see in the table?

8. Find a rule which will give the number of points of contact with the circle (p) from the step size (s) used.



p = ?
9. Test your rule by predicting the number of points in the patterns below, using the circles provided below the table:

	
	Predicted no. of points
	Predicted shape
	Actual no. of points
	Actual shape

	(i)
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12-Point Circles
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How did you do?
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Hint:  Think about factors.
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